








(2a ~ r)’  - r* = 4aex

4a2  - 4 a r  =  4aex

r=a-ex

( a  - ex)2  = (x ~ ae)* +  y2

a2  ~ 2aex  + e*x2 rzz 2x - 2aex  +  (ae)*  +  y2

(1  - e2)x2 =  (1  ~ e2)a2  - y*

(1 -- e2)x2 + y*  = (1 - e2)a2

cm&3mis (7.2) rmYll~L~erna%M~~~L~U

(1 - e2) = b2
a2

(7.7)

(7.X)

(7.9)

(7.10)

(7.11)

(7.12)
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v=v,+v 2

mlVl = m&v - v,)

m,v,  +  m2v, =  m2v

6%
m2V

v, =
m, +  m2

bbi% m,(v - v2)  = m2v2

m,v =  m,v2 +  m  v22

mlvv =-
2

ml  + m2

wlwil v, LLa::  v* osIuaaln1~ (7.44) amI6

1- m m2v2
1

TEE 2 l2
- m m2v2 Gmlm*+221 -

(m, +  m212  (ml +  m2j2 r

1- m v*
1

= m,m2 2 2
+ i mlv2 _  c,

(ml + mJ2 r
1

[
v2 G = &).$j

TE = mlm2 2(m, + mz) - F 1

(TE), = m,m2 [

(7.45)

(7.46)

(7.47)

9intwni'i  (7.33) a~a~~sn&~dw~I~~~

4a2a3

P2G(m, + m2)
=  1
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lrnv2  -
-- GM@m - GM@m

2
R@

= R@+h

GM .-1V2R  = GMc3
03  2 cr3 1 + h/R@

V’R, 1-=
l - ZGM, 1 + h/R@

1+#-= 1

eE 1 - V’R@I2GM.

h = R@
1

1 - V2Re/2GMe
- 1 1

= R
V2Re12GM,

1 - V2RJ2GMe 1

h =
v212g

1  - V212gRe

1 (7.51)
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-&a h << R,
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Lib  G = 6.67 x lo- ” N . &kg*

M, = 5.98 x 10z4  f%f&.  &;spa”~

v, =
(6.67 x 10 - I’)(%98  x 1024)

6.378 x IO6

vc = 7.91
RcB
-
RB  +  h

(7.52)

= (6.67 x lo- “)(5.98  X 1024)(86,400)
I 4n2 1

3 bus

= 4.2 x lo7 W’S
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1 2 v2-=---
a r GM

tB

2 v2
= - - 21

vc’

r
a =

2 - (VlvJ2
(7.55)
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b’=b-A

GM> (d - Re cos 0)
=

GMD
- -

r3 d2

GMDb’ = -
r3 (7.61)

r2  = d*+R;-2dRecos8

2RfBdCOS0  + (%,‘I

(7.62)

b’ z
2GM,R  ~

d3
cos 0 (7.66)
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(1 .99  x  1030)  3 .84  x 105

i z,(  : )3 = 7.36  x 10z2  ( 1.50  x 10’  )

3
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